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The figures in the margin indicate jull marks.
Choose the right options (all questions are compulsory). 2x25

1. Chilika Lake is a

(A) Biosphere Reserve (B) Ramsar Site (C) National Park
2. What are the main 3Rs of solid waste management?

(A) Rot — Remove — Rethink ] G\R\-s' COU—EG‘E

(B) Reduce — Reuse — Recycle MURM“DHA\_\B 2 ARY

10.

(C) Reduce — Recovery — Rediscovery

. Which Section of Indian Constitution put environmental protection as fundamental duty of the citizen?

(A) 48A (B) S1A(g (C) 47A

Which of the following relation is correct?
(A) Johad—Soil conservation (B) Johad—Water pollution (C) CNG—AIr pollution

Which of the following unit is used to measure thickness of ozone layer?
(A) ppm (B) Decibel (C) Dobson’s unit

Which of the following is a greenhouse gas?
(A) Oxygen (B) Methane (C) Hydrogen Sulphide

Identify the correct relationship.

(A) Photochemical reaction—Secondary pollutant
(B) Carbon dioxide—Ozone layer depletion

(C) CFC—Decay of Tajmahal

What does decibel measure in case of noise pollution?

(A) Wavelength of sound (B) Type of noise (C) Intensity of noise

. Which of the following may take place at the final stage of demographic transition?

(A) Reduction of child mortality

(B) The old population is negligible to the young productive population

(C) The old population is much more higher compared to the young productive population
In which state of India the Asiatic Wild Ass is available?

(A) West Bengal (B) Gujarat (C) Maharashtra



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

MUS/X(2nd Sm.)-Env. Studies-(BA/B.Sc./B.Mus)
(B-7) Hons./Major/AECC-2/CBCS

)

Which of the following relation is correct?
(A) Autotrophic Plants—Decomposers
(B) Carnivores—Consumers

(C) Saprophytes—Grazing food chain

Which of the following is an endangered species?
(A) Kangaroo (B) Bat (C) Royal Bengal Tiger

COD is a measure of
(A) Water pollution (B) Air pollution (C) Sail pollution

Which is the apex body in India for environmental protection?
(A) Pollution Control Board

(B) Ministry of Home Affairs

(C) Ministry of Environment, Forest and Climate Change.

Which of the following relation is correct?

(A) Stockholm Conference-1970

(B) Ramsar Convention-1971 MURA\-\DH AR GIRLS’ COLLEGE

(C) Rio Earth Summit-1997 LIBRARY

Which of the following is viral disease? _

(A) Arsenicosis (B) Blackfoot disease (C) Polio

Who was the torch-bearer of water revolution in India?

(A) Medha Patkar (B) M. S. Swaminathan (C) Rajendra Singh

India is a

(A) Tundra country (B) Arid country (C) Megadiversity country
The transitional area of two ecosystem is called

(A) Ecotone (B) Biota (C) Biome

What happens to the soil due to deforestation?
(A) Reduction in soil moisture
(B) Reduction in soil organic matter

(C) Both the above are correct
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21. Which of the following type of land is ideal for urbanisation?
(A) Agricultural land (B) Wasteland (C) Wetland

22. What is the theme of the book *Silent Spring’ written by Rachel Carson?
(A) Impact of pesticides on environment
(B) Climate Change

(C) Impact of environmental pollution on society.

23. One of the reasons of groundwater depletion is
(A) Water and soil pollution
(B) Change in timing of rainfall

(C) Concretization of land surface leading to less percolation.

24. Minamata disaster is a
(A) Nuclear accident (B) Natural disaster (C) Pollution related incident

25. How many biogeographic regions are there in India?
(A)9 (B) 10 (©) 11
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